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1. - 3. soruları, aşağıda verilen parçaya göre 
yanıtlayınız.

Dolphins are very intelligent sea mammals. They are 
found worldwide, mostly in shallow areas of tropical and 
temperate oceans. Five species live in the world’s rivers. 
They live in social groups of five to several hundred. They 
mostly eat fish and squid. Dolphin coloration varies, but 
they are generally grey in colour with darker backs than 
the rest of their bodies. Most dolphins live long lives. 
The bottlenose dolphin can live over 40 years, and the 
orca can live up to 70 years. It is difficult to estimate their 
population since there are many different species living in 
a large geographic area.

1. According to the passage, dolphins ----.

A) can only be found in cold oceans
B) are not as intelligent as other sea mammals
C) are not social animals
D) don’t live alone
E) are very deadly sea mammals

2. One can understand from the passage that there 
are dolphin species which ----.

A) live in rivers
B) hunt other dolphins
C) have weak eyesight
D) are among the biggest sea creatures
E) are completely white

3. It is stated in the passage that ----.

A) there are no dolphins in temperate and tropical 
oceans

B) the bottlenose dolphin can live up to 70 years
C) the orca is smaller than the bottlenose dolphin
D) dolphins have short lives
E) it is hard to know how many dolphins live all 

over the world
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1. - 3. soruları, aşağıda verilen parçaya göre 
yanıtlayınız.

While the Earth is a small component of the vast Solar 
System, the latter in itself is a small component of a 
larger entity referred to as the Milky Way, which is a 
galaxy. Other than our solar system, the Milky Way has 
billions of stars in it; some of which are bigger than 
the Sun. Considering that the universe contains all the 
galaxies and inter-galactic space that exists, it has to 
be very vast in nature. But is it possible to find out the 
expanse of Universe based on the number of galaxies 
out there? It is virtually impossible to find out the exact 
number, considering that we are yet to know the expanse 
of the Universe in itself. In future, however, things may 
change and we may answer this difficult question with an 
exact figure, instead of going with the estimates.

1. According to the passage the vast Solar System 
----.

A) is also larger than the Milky Way
B) is one of the numerous galaxies in the universe
C) keeps changing constantly as opposed to 

estimates
D) isn’t more than a small part of the Milky Way 

galaxy
E) is older than the Milky Way

2. One can understand from the passage that ----.

A) there is no inter-galactic space between 
galaxies

B) we have accurate estimates about the size of 
the universe in the past

C) the Sun is the biggest star in the universe
D) we will soon know the exact number of galaxies 

in the universe
E) the Milky Way contains many other stars than 

the Sun

3. The writer obviously states that ----.

A) estimates show that the universe shouldn’t be 
so vast

B) we don’t know the exact size of the universe 
currently

C) the Solar System is bigger than most galaxies
D) the Milky Way is one of the smallest galaxies in 

the universe
E) it is possible to know exact size of any 

formation including the universe


